| Efficiency vs Dxy |
>.0.02r
<

S
AN NE:] SRR SR oo b e
< - :
@.016 it R e S
o C
@014 b Rt S HE
£t .

0'01:_ .....................................................................
0.008_— .......................................................................
0.006_— .....................................................................
0 Rl R S L S S S
0,002 ++sireeeeviiesersdrennnndinns R s S IO

.9 OEIIII:IIII:IIII:IIII:III! II:IIII:IIII:IIII:IIII
"CE 1_— e LR TR PP TP L E T
o -

0.9 ----bermmertonmnendnonncd R S

08 e 55-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0
[ Efficiency vs Dz | |—s— DQM_TT__mkFit-DQM_mod-127

—— DQM_TT__mkFit-DQM_mod_updated-127
N 0.02 . : : :

018 [
% RN S

R I
‘o - : : : : :
$.014 B opEe frorereeeee AR A
(0] L : : : : :

0012t i
000
0008+ g

0.006F

0.0041

0.002F

0 : . ;
1.4 : ST 1

Ratio

RSO O 1)1 S A
1 f f : f f
0.8 | SR I RIANC S ST SO RS RO
-30 -2 | ' 0 20 30
TP dz (cm)




	Contents
	Page 1


